MATH 111 HOMEWORK 1

Solutions

Name:

DUE THURSDAY, SEPTEMBER 7TH

might appear on an exam/quiz. If you use a calculator
without it.

This assignment is worth 100 points. You will be awarded 40 points for atlempting the entire assign-
ment (that is answer all problems), T will then select 30 problems at random to grade, each worth 2
points each. The space left between each question is indicative of how much work you should show.,
If there are any problems you find particularly difficult. circle them in red. IT there are any particular
questions you would like feedback on, circle them in sreen. These are examples of questions that

to help, make sure you can also do them

1. Given the sets below, find the indicated set. Remember {a, b} denotes the set containing a and b, and (e, 8) denotes the

interval from a to b,

(a) A={1,2,57,8,9}, AUl =
B =1{2,3,4,8,9,10}.
Answer
(b) S ={2,4,6,8,10,12}, SNTNU =
T = {3,6,9,12, 15},
U={236,8,9,12}.
Answer:
(¢) X ={1,2,3,5,8,13}, XnY =
Y =(2,9).
Answer:
(d) M = (-2,6], AfUN =
N =[-1,6].
Answer:

_$423,4,5,7,8,4,10%

§6,123

13,5 8%

('Z / 6]

2. For each of the sets A and B, find a point that lies in one set. bul not the other. State which set the poinl you choose

belongs to.

(a) A=(2,5),

45, A

-7, A

V6, A

B = [3,4].
Answer:
(b) A=[-7,3),
B=(-73.
Answer:
(e} A=1[0,17),
B =(-1,15).
Answer:
(d) 4 = (8,10},
B = (8,9.9].

Answer:

Q’qsfﬂ
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3. Calculate the given expression. Your answer should be a single nuber with no exponents or radicals.
@ 6t = Jel G (2t = 9)24D
Answer: ? Answer: - 3

(h) 163 = STg‘

Answer:
Answer: 116
o 104 = 4"
2 IE e & © I = 376
- &
TIEWET

(@ 121°%
- = /i
- VA Answer: (1} ¥256 = Lt ile

{e) (—ﬁ'”_% \ Answer:
e —-Ll’
3)-ehy Answer: - (m) YT
0 -8)? .

- 3/ Answer:
Answer: 2"
N& (n) ¥Y=216

( Answer: 34 5 Answer:
(ll) Gd~ i ) ( y (0) m
- Q‘J b Answer: 32 Answer: 7

4. Simplify the given expression so that the only exponents that appear are positive.

n)( ""_")-l
2
3y S

Answer:

(g) 493

(b) [(2“2)-—3 b_l]—:;

- -7 -bb ]_\¥
L2 '\3 2»%;’

- Zq O\‘ 7 b Answer:

(.—ﬁblu
() Pe 1t \O 1y

b C
bq C,e bc

Answer:

-
—

Cont.
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2 W76
o 3, -8 -k *he” o
0B bt t _bolblc - hoTbe
R Y g T o 7 b-—? O\b(o?- b‘c? OE: bg
- [T
Answer: o o
o -\ =2 4 I
(© (((iu‘)) :Jl'“‘ - b ‘ X _ 2 N i
20) " w L \o
2 3\/ ‘sLJ 6\ W
b/
v &
Answer; 3 L Dx

(8222’ ST R &
(n) [W] g B i I [I fj]

5L, ,36
Answer: \x 5

2 -7 %0 Q +
o (EE)" L (Sen Y ot Y (LN
b=9c8a—4 — = O\B bq -—_ ae b

Answer:

7 -6_-> -2
P

Y e 0"
i’

Psi—é‘ .

(p=q=4)" p1

Answer:

5. Simplify the given expression so that the only exponents that appear are positive.

2=y -3 _~6
() (2~ - P9

30 6
Answer: p q’

. 3, 3
a a :1; 7 . .
(b) =3 (.L x ) = j3 ‘I,l xr 2
O
=X X . BT

Answer:

(c) ata~}at ¢ a
% Az e
- O -Ch

Answer:

Cont.
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. g
(d) (m‘%n%)_ﬁ - m5%,’ N A‘ 56’,
27

B .
Answer: A
) | Ve
© (a—%w)* o k{l % e g\ (Of/\z b%>
a1 e ( PN b = (W') - 4/
1 5
O\/\?. b
Answer:
gt ) " Vs ! )
n {2 _ Y
()(p*q’i) "( %CL ‘
= (P %) o,
= /2
Answur: P OL
v 7
ety 3 : JCWQ' ’ ‘ 1 >/5,
(g)( 3 ) = (I—————m‘ 37,3 =\ (d/’j l
e
7/5' Lj—;/iz
Answer:
R 2
i 2, \Ofs U 'L/'r \/q /7
(h) (LPL) = _q_-———*“ = ( 7/7 b"“« w-r ory .
bta ¥cd - O\.\o\lqc'bhc‘lq C. v o C
V6
of2r 176
Answer: L o €.
6. Whrite the given expression in exponential {form.
(a) V3n
\ / \
(A /7,
Answer: :5 ﬂ
(h) Z5
2}/6 e
Answer: a
() V7
/ /5 af:b P
Answer:

Cont.
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(o) yETE

Answer:
(¢) VFFT
\/ 3
Answer: ( ‘I al ‘j>
() Va3 +03
'/
3. 0375
Answer: (a + b )

7. Convert the given expression to rational exponent form.

(a) V=2

Answer:
(b) V/z5
5/3
Answer: Z
(c) V16217
v, T3
|6 ~-OC
Answer:
(d) /12851
\ /6 i) /6
Answer: \29 ‘ﬂ
Answer: :I S Z_
My 5 H/q
K
Answer:

Cont.
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(g) V720:Tyz"
Vl-\- 7 Me VOl
774 .o Y £
\ '/
() YT YOSF (L,,.I”-.(j.\o.acf’.(j") 2 - (Q—O-I_" Y )

Answer:

257 Y

\ /.
() VIvEVIIE - (33’_-6;.\43@)& = (6"’-713) “

Answer:

‘/’L 3/1
Answer: 6 ] 7 l
/ Vq.«
(J) l/—_2J:y-j '/323723]2 - ( ?\1'33' azj'ljl) 4 - (4 . \6 CC3 65)

Answer: l ‘x ' (:)

8. Decide if the given statement is true or false. If false give the corrected version of the statement.

(n) 1 = 6x~! - ,._——6 ____\_..-
G 63" — 6
Answer: %\

297 = a0
A" 2.1 (&
X ) - x FX
( Tolse

(h) (

Answer:
(c) (.m_:!n:l)‘-’ S |
€ T
> 6 3 \" 8
(>) =’ F 0 1 lee
Answer:
(d) [(:’*13]"=.:24
b
G 14
. =z
(2 > Answer: True

Cont.
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{e) ('+b‘)'—r + 3
x4
DC"f'j) - +33cj+39c3+ =+ tj

_— q%\ €

(1) a ¥ =g} R
.y '5/.‘) _ ‘_____ "-l:
o - ( % B/
O ’ Answer: %’\56
(g) =" =z
L L ( n\_.\ l 4: ‘:):\/n
) x - DCV\ Answer: g\ SC

(h) 32 = 3z

v Y/‘
SQC = BF# e 6\56

Answer:

(i) Voe+6= 5+ V0

DC+6)V313 X A6
E(sreya) o3PS BT Folse

Y
c\rj———’l x ‘T: \¢ ‘S"_’\

/'-'
lcue
Answer:
9. Expand and simplify the given expression.
(a) 3(3w + 3x) + 3(2w — 2r)
23043 e +320 -D 2
= QurAx 460 -6
\ Bou + D

Answer:

Cont.
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(b) 4(6d + 2e) — 6(3d + 2¢)

GO+ o2 — 6730 - 67AL
- Il +Be - 18 -\VLEe

Answer:

o - te

(c) e+ 2y — 33) + 3z(a - 2y + 3z) — 2y(x — y — 32)

- Yo 4T - X3+ DT -D22Y 13202 - Z{j-x:'lgj-j r2q: 52
= ot 420 -3 FIoz-6yt +4z =20y T2y +6Y?
X2z rdoz -642 fq?-1+2¢jl+6_-jt

Answer:

_ Qo + V200 ¥Loc -12 %)

Answer:
{e) T(p+2)-3(2p-3)
= Jp+\4- 6p ¥4
Answer: P +23
; 26 4+6F-29°39
(f) 65(f +29 — h){(h + 39) \ 166,629 +662
p,h) (h‘\"bg) = bF - o€ h-hﬂ—bp \na.)ﬂ_z C—.F\r\Q—\?FS"‘

(606 + 66-29 ~©

Cn+\8F G -6Fgn +36Fg"- 6FN

Answer:

{g) 5+ Gzy(z + 5y) + 52(2x — 3y)(2x + 3y)
- 5:,;.{— 63:6:‘ X +6DC-35
= hx+ 6342 *303(.37‘-» 5z

y ¥ 5%(433—‘3&1)
G- 52 Y

2 Z
Lo + by 2 +90XY +20x 2 -c@%

Answer:

Cont.
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10. Factorise the given expression completely.

2
(a) 360 250> - [ 6b)2 - (50\)

(b) 2ry — 62y + 4y

(c) & +4e* — dde

- at-202€) +(28)"

(d} u*o® - 3uw + Tuv

(e) a® + 2ab+ b*

() zy(x + y)* + day + 62y

Xy ((x—rtj)"‘q— b+ 6o )

Answer:

Answer

(6o - S5o)6lb+5¢+)

2xy() '31+7‘tj2)

(d-ze)z

Answer:
Answer_ Y ( av =3 7u)

o, LA \032

ey (v e« 2y 4y )

The End.






